Project Name: 2021 Storm Drainage Improvement Project			Engineer's Estimate		Entler Excavating Co., Inc.		A&R Mechanical Services		Kinney Contractors		
Project Number: 2021-30				Engineer 3 Estimate		Entier excavating Co., inc.		A&R Mechanical Services		Killiey Contractors	
				City Engineering Division		819 North Sunnyside Rd		711 Kettering Park Drive		19342 E Frontage Road	
Bid Date: Thursday, July 8,2021					Decatur, IL 62522		Urbana, IL 61801		Raymond, IL 62560		
Time: 10:00	Time: 10:00 a.m.										
Fund: Storn	n Water										
	Code: 78487806										
Object Code											
Item Number	Pay Item	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	"			SARAH DRIVE							
28100105	STONE RIP RAP, CLASS A3	110	CU YARD	\$75.00	\$8,250.00	\$30.00	\$3,300.00	\$118.80	\$13,068.00	\$250.00	\$27,500.00
28200200	FILTER FABRIC	170	SQ YARD	\$5.00	\$850.00	\$5.00	\$850.00	\$3.00	\$510.00	\$3.00	\$510.00
X0326441	STONE BEDDING MATERIAL	25	TON	\$75.00	\$1,875.00	\$40.00	\$1,000.00	\$62.84	\$1,571.00	\$62.00	\$1,550.00
60224010	MANHOLE, TYPE A, 6 FOOT DIAMETER WITH TYPE 8 GRATE, SPECIAL #2	2	EACH	\$7,000.00	\$14,000.00	\$7,500.00	\$15,000.00	\$8,531.21	\$17,062.42	\$11,000.00	\$22,000.00
550A0160	STORM SEWER, CLASS A TYPE 1, RCP, 36 INCH	157	FEET	\$350.00	\$54,950.00	\$150.00	\$23,550.00	\$169.39	\$26,594.23	\$175.00	\$27,475.00
54213681	PRECAST REINFORCED CONCRETE FLARED END SECTION, 36	2	EACH	\$2,500.00	\$5,000.00	\$3,200.00	\$6,400.00	\$1,115.95	\$2,231.90	\$3,000.00	\$6,000.00
25100115	MULCH METHOD 2	7,900	SQ FEET	\$2,300.00	\$5,000.00	\$0.60	\$4,740.00	\$0.24	\$1,896.00	\$0.20	\$1,580.00
25000100	SEEDING, CLASS 1	7,900	SQ FEET	\$0.75	\$5,925.00	\$0.60	\$4,740.00	\$0.24	\$1,896.00	\$0.65	\$5,135.00
44213200	SAW CUTS	40	FOOT	\$5,00	\$200.00	\$6.00	\$240.00	\$15.28	\$611.20	\$20.00	\$800.00
20800150	TRENCH BACKFILL	10	CU YARD	\$55.00	\$550.00	\$45.00	\$450.00	\$129.47	\$1,294.70	\$68.00	\$680.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	20	CU YARD	\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$36.84	\$736.80	\$70.00	\$1,400.00
44201701	CLASS D PATCHES, 5 INCH PAVEMENT	25	SQ YARD	\$180.00	\$4,500.00	\$146.00	\$3,650.00	\$199.90	\$4,997.50	\$180,00	\$4,500.00
20400800	FURNISHED EXCAVATION	360	CU YARD	\$25.00	\$9,000.00	\$25.00	\$9,000.00	\$39.82	\$14,335.20	\$60.00	\$21,600.00
21101625	TOPSOIL FURNISH AND PLACE, 6"	400	SQ YARD	\$25.00	\$10,000.00	\$9.00	\$3,600.00	\$16.96	\$6,784.00	\$15.00	\$6,000.00
M2010110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	14	EACH	\$300.00	\$4,200.00	\$500.00	\$7,000.00	\$855.64	\$11,978.96	\$750.00	\$10,500.00
M2010210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	6	EACH	\$1,000.00	\$6,000.00	\$975.00	\$5,850.00	\$1,833.52	\$11,001.12	\$1,200.00	\$7,200.00
X0100003	CLEARING AND GRUBBING	1	LUMP SUM	\$10,500.00	\$10,500.00	\$3,500.00	\$3,500.00	\$3,934.32	\$3,934.32	\$4,000.00	\$4,000.00
28000500	INLET AND PIPE PROTECTION	3	EACH	\$500.00	\$1,500.00	\$75.00	\$225.00	\$144.44	\$433.32	\$200.00	\$600.00
M2800305	TEMPORARY DITCH CHECKS	20	FOOT	\$100.00	\$2,000.00	\$15.00	\$300.00	\$29.43	\$588.60	\$18.00	\$360.00
70102620	TRAFFIC CONTROL	1	LUMP SUM	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,454.16	\$1,454.16	\$4,000.00	\$4,000.00
67100100	MOBILIATION	1	LUMP SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$6,395.67	\$6,395.67	\$5,000.00	\$5,000.00
			C	ORMAN COURT							
55100900	STORM SEWER REMOVAL, 18 INCH	285	FOOT	\$40.00	\$11,400.00	\$30.00	\$8,550.00	\$19.03	\$5,423.55	\$22.00	\$6,270.00
550B0090	STORM SEWER, CLASS B, TYPE 1, HDPE, DUAL WALL, 18 INCH	285	FOOT	\$125.00	\$35,625.00	\$50.00	\$14,250.00	\$54.04	\$15,401.40	\$86.00	\$24,510.00
X550B111	STORM SEWER, CLASS B, TYPE 1, HDPE WYE, DUAL WALL, 18 INCH AND 12 INCH BRANCH	1	EACH	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$883.13	\$883.13	\$1,700.00	\$1,700.00
60500060	INLET REMOVAL, SALVAGE GRATE	1	EACH	\$1,400.00	\$1,400.00	\$200.00	\$200.00	\$468.46	\$468.46	\$600.00	\$600.00
60238800	INLET, TYPE A, 2 FOOT	1	EACH	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00	\$1,393.29	\$1,393.29	\$1,400.00	\$1,400.00
25100115	MULCH METHOD 2	1,415	SQ FEET	\$0.75	\$1,061.25	\$0.60	\$849.00	\$0.24	\$339.60	\$0.20	\$283.00
25000100	SEEDING, CLASS 1	1,415	SQ FEET	\$0.75	\$1,061.25	\$0.60	\$849.00	\$0.24	\$339.60	\$0.65	\$919.75
XX003424	CONNECT TO EXISTING STRUCTURE	1	EACH	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$777.31	\$777.31	\$3,500.00	\$3,500.00
XX005486	CONNECT TO EXISTING PIPE	3	EACH	\$1,500.00	\$4,500.00	\$600.00	\$1,800.00	\$438.57	\$1,315.71	\$900.00	\$2,700.00
28000400	TEMPORARY EROSION CONTROL, PERIMETER BARRIER	600	foot	\$5.00	\$3,000.00	\$3.00	\$1,800.00	\$3.88	\$2,328.00	\$5.00	\$3,000.00
28000500	INLET AND PIPE PROTECTION	3	EACH	\$500.00	\$1,500.00	\$75.00	\$225.00	\$144.44	\$433.32	\$200.00	\$600.00

						l'''''					
Project Name: 2021 Storm Drainage Improvement Project			Engineer's Estimate		Entler Excavating Co., Inc.		A&R Mechanical Services		Kinney Contractors		
Project Number: 2021-30											
				City Engineer	ing Division	819 North Sunnyside Rd Decatur, IL 62522		711 Kettering Park Drive Urbana, IL 61801		19342 E Frontage Road Raymond, IL 62560	
Bid Date: Thursday, July 8,2021 Time: 10:00 a.m. Fund: Storm Water											
Organization Code: 78487806 Object Code: 489040											
Item Number	Pay Item	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
70102620	TRAFFIC CONTROL	1	LUMP SUM	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$631.55	\$631.55	\$3,000.00	\$3,000.00
67100100	MOBILIZATION	1	LUMP SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,404.23	\$3,404.23	\$5,000.00	\$5,000.00
Z0056626	STORM SEWER (WATER MAIN REQUIREMENTS), 48 INCH	10.5	FOOT	\$500.00	\$5,250.00	\$2,000.00	\$21,000.00	\$1,422.30	\$14,934.15	\$1,250.00	\$13,125.00
X0326156	STORM SEWER, CLASS B, TYPE 1, SDR-26, 12 INCH	15	FOOT	\$70.00	\$1,050.00	\$50.00	\$750.00	\$133.85	\$2,007.75	\$250.00	\$3,750.00
20400800	FURNISHED EXCAVATION	125	CU YARD	\$25.00	\$3,125.00	\$25.00	\$3,125.00	\$37.60	\$4,700.00	\$62.00	\$7,750.00
21101625	TOPSOIL FURNISH AND PLACE, 6"	175	SQ YARD	\$25.00	\$4,375.00	\$9.00	\$1,575.00	\$18.71	\$3,274.25	\$15.00	\$2,625.00
28200200	FILTER FABRIC	30	SQ YARD	\$5.00	\$150.00	\$5.00	\$150.00	\$4.05	\$121.50	\$3.00	\$90.00
28100105	STONE RIP RAP, CLASS A3	15	CU YARD	\$75.00	\$1,125.00	\$80.00	\$1,200.00	\$134.82	\$2,022.30	\$250.00	\$3,750.00
25100115	MULCH METHOD 2	1,500	SQ FOOT	\$0.75	\$1,125.00	\$0.60	\$900.00	\$0.24	\$360.00	\$0.20	\$300.00
25000100	SEEDING, CLASS 1	1,500	SQ FOOT	\$0.75	\$1,125.00	\$0.60	\$900.00	\$0.24	\$360.00	\$0.65	\$975.00
25100630	EROSION CONTROL BLANKET	150	SQ FOOT	\$2.50	\$375.00	\$5.00	\$750.00	\$3.99	\$598.50	\$2.00	\$300.00
28000500	INLET AND PIPE PROTECTION	2	EACH	\$500.00	\$1,000.00	\$75.00	\$150.00	\$144.44	\$288.88	\$200.00	\$400.00
X6023980	INLET, TYPE A, TYPE 8 GRATE, SPECIAL #2	1	EACH	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$1,626.29	\$1,626.29	\$1,700.00	\$1,700.00
55100500	STORM SEWER REMOVAL, 12 INCH	15	FEET	\$50.00	\$750.00	\$60.00	\$900.00	\$32.85	\$492.75	\$40.00	\$600.00
55101900	STORM SEWER REMOVAL, 48 INCH	9	FEET	\$200.00	\$1,800.00	\$200.00	\$1,800.00	\$54.76	\$492.84	\$115.00	\$1,035.00
55102000	STORM SEWER REMOVAL, 54 INCH	2	FEET	\$250.00	\$500.00	\$300.00	\$600.00	\$246.40	\$492.80	\$535.00	\$1,070.00
20800150	TRENCH BACKFILL	10	CU YARD	\$75.00	\$750.00	\$45.00	\$450.00	\$168.95	\$1,689.50	\$68.00	\$680.00
Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	1	EACH	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$839.80	\$839.80	\$6,000.00	\$6,000.00
60224005	MANHOLES, TYPE A, 6 FOOT, TYPE 8 GRATE, SPECIAL #2	1	EACH	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	\$13,640.33	\$13,640.33	\$15,000.00	\$15,000.00
XX005486	CONNECT TO EXISITING PIPE	2	EACH	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$801.76	\$1,603.52	\$900.00	\$1,800.00
XX003525	CONNECT TO 5 FOOT X 5 FOOT ARCHWAY	1	EACH	\$4,000.00	\$4,000.00	\$1,900.00	\$1,900.00	\$1,786.87	\$1,786.87	\$5,000.00	\$5,000.00
70102620	TRAFFIC CONTROL	1	LUMP SUM	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,967.11	\$1,967.11	\$8,000.00	\$8,000.00
67100100	MOBILIZATION	1	LUMP SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,746.49	\$3,746.49	\$5,000.00	\$5,000.00
			FA	IRVIEW AVENUE							
28100105	STONE RIPRAP, CLASS A3	28		\$75.00	\$2,100.00	\$35.00	\$980.00	\$116.60	\$3,264.80	\$200.00	\$5,600.00
28200200	FILTER FABRIC	40	SQ YARD	\$5.00	\$200.00	\$5.00	\$200.00	\$5.83	\$233.20	\$6.00	\$240.00
25100115	MULCH METHOD 2	1,350	SQ FOOT	\$0.75	\$1,012.50	\$0.60	\$810.00	\$0.24	\$324.00	\$0.20	\$270.00
25000100	SEEDING, CLASS 1	1,350	SQ FOOT	\$0.75	\$1,012.50	\$0.60	\$810.00	\$0.24	\$324.00	\$0.65	\$877.50
55100400	STORM SEWER REMOVAL, 10 INCH CLAY	4	FEET	\$15.00	\$60.00	\$50.00	\$200.00	\$107.89	\$431.56	\$220.00	\$880.00
X5015225	ARCHWAY SEWER REMOVAL	56	FEET	\$100.00	\$5,550.00	\$30.00	\$1,665.00	\$57.79	\$3,207.35	\$110.00	\$6,105.00
50104400	CONCRETE HEADWALL REMOVAL	29	FEET	\$40.00	\$1,160.00	\$90.00	\$2,610.00	\$123.98	\$3,595.42	\$170.00	\$4,930.00
Z0056682	STORM SEWER, TYPE 2, 42 INCH PVC WATER MAIN QUALITY	50	FEET	\$400.00	\$20,000.00	\$1,000.00	\$50,000.00	\$338.87	\$16,943.50	\$530.00	\$26,500.00
X0326154	STORM SEWER, CLASS B, TYPE 2, 10 INCH SDR-26	6	FEET	\$65.00	\$390.00	\$100.00	\$600.00	\$540,90	\$3,245.40	\$320.00	\$1,920.00

				l				[T	
Project Name: 2021 Storm Drainage Improvement Project				Engineer's Estimate		Entler Excavating Co., Inc.		A&R Mechan	ical Services	Kinney Contractors	
Project Number: 2021-30											
			City Engineering Division		819 North Sunnyside Rd Decatur, IL 62522		711 Kettering Park Drive Urbana, IL 61801		19342 E Frontage Road Raymond, IL 62560		
Bid Date: Thursday, July 8,2021											
Time: 10:00	Time: 10:00 a.m.										
Fund: Storm	Water										
Organization	Organization Code: 78487806										
Object Code					<u> </u>						T
Item Number	Pay Item	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
60100060	CONCRETE HEADWALL	11	FEET	\$400.00	\$4,400.00	\$550.00	\$6,050.00	\$600.88	\$6,609.68	\$1,320.00	\$14,520.00
X0322916	CONNECT TO EXISTING PIPE, 10 INCH	1	EACH	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$226.77	\$226.77	\$2,400.00	\$2,400.00
44201701	CLASS D PATCHES, 5 INCH PAVEMENT	35	SQ YARD	\$180.00	\$6,300.00	\$130.00	\$4,550.00	\$156.73	\$5,485.55	\$155.00	\$5,425.00
XX003424	CONNECT TO EXISTING STRUCTURE	1	EACH	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,405.27	\$1,405.27	\$6,000.00	\$6,000.00
44213200	PAVEMENT SAW CUTS	85	FEET	\$5.00	\$425.00	\$6.00	\$510.00	\$6.11	\$519.35	\$20.00	\$1,700.00
20800150	TRENCH BACKFILL	50	CU YARD	\$50.00	\$2,500.00	\$45.00	\$2,250.00	\$186.09	\$9,304.50	\$95.00	\$4,750.00
M2010110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	4	EACH	\$300.00	\$1,200.00	\$500.00	\$2,000.00	\$855.64	\$3,422.56	\$650.00	\$2,600.00
M2010210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	3	EACH	\$1,000.00	\$3,000.00	\$975.00	\$2,925.00	\$1,833.52	\$5,500.56	\$1,300.00	\$3,900.00
28000500	INLET AND PIPE PROTECTION	1	EACH	\$500.00	\$500.00	\$75.00	\$75.00	\$144.44	\$144.44	\$200.00	\$200.00
X0100003	CLEARING AND GRUBBING	1	SQ YARD	\$2,000.00	\$2,000.00	\$1,300.00	\$1,300.00	\$3,734.32	\$3,734.32	\$3,000.00	\$3,000.00
70102620	TRAFFIC CONTROL	1	LUMP SUM	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$2,676.07	\$2,676.07	\$11,000.00	\$11,000.00
67100100	MOBILIZATION	1	LUMP SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$7,492.98	\$7,492.98	\$6,000.00	\$6,000.00
В					E						
44001700	COMBINATION CONCRETE CURB AND GUTTER REMAOVAL AND REPLACEMENT	10	FOOT	\$150.00	\$1,500.00	\$105.00	\$1,050.00	\$81.45	\$814.50	\$85.00	\$850.00
44213200	SAW CUTS	25	FOOT	\$5.00	\$125.00	\$6.00	\$150.00	\$6.11	\$152.75	\$20.00	\$500.00
60219000	MANHOLE, TYPE A, 4 FOOT DIAMETER, TYPE 8 FRAME AND GRATE	2	EACH	\$5,500.00	\$11,000.00	\$2,000.00	\$4,000.00	\$3,414.49	\$6,828.98	\$5,000.00	\$10,000.00
25100115	MULCH METHOD 2	2,000	SQ FEET	\$0.75	\$1,500.00	\$0.60	\$1,200.00	\$0.24	\$480.00	\$0.20	\$400.00
25000100	SEEDING, CLASS 1	2,000	SQ FEET	\$0.75	\$1,500.00	\$0.60	\$1,200.00	\$0.24	\$480.00	\$0.65	\$1,300.00
44201701	CLASS D PATCHES, 5 INCH PAVEMENT	5	SQ YARD	\$180.00	\$900.00	\$325.00	\$1,625.00	\$224.49	\$1,122.45	\$380.00	\$1,900.00
60108210	PIPE UNDERDRAINS, TYPE 2, 10 INCH (SPECIAL)	5	FOOT	\$85.00	\$425.00	\$150.00	\$750.00	\$219.12	\$1,095.60	\$125.00	\$625.00
60108400	PIPE UNDERDRAINS, TYPE 2, 10 INCH	350	FOOT	\$75.00	\$26,250.00	\$50.00	\$17,500.00	\$47.10	\$16,485.00	\$75.00	\$26,250.00
xx003424	CONNECTION TO EXISTING STRUCTURE	1	EACH	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,017.00	\$1,017.00	\$3,000.00	\$3,000.00
28000400	TEMPORARY EROSION CONTROL, PERIMETER BARRIER	400	FOOT	\$5.00	\$2,000.00	\$5.00	\$2,000.00	\$3.88	\$1,552.00	\$5.00	\$2,000.00
28000500	INLET AND PIPE PROTECTION	1	EACH	\$150.00	\$150.00	\$75.00	\$75.00	\$144.44	\$144.44	\$200.00	\$200.00
60235700	INLET, TYPE A, 2 FOOT DIAMERTER, TYPE 3 FRAME AND GRATE	1	EACH	\$2,775.00	\$2,775.00	\$1,900.00	\$1,900.00	\$1,992.28	\$1,992.28	\$2,000.00	\$2,000.00
70102620	TRAFFIC CONTROL	1	LUMP SUM	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,676.07	\$2,676.07	\$8,500.00	\$8,500.00
67100100	MOBILIZATION	1	LUMP SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$7,492.98	\$7,492.98	\$4,500.00	\$4,500.00
Z0009000	ALTERATIONS, CANCELLATIONS, EXTENSIONS, DEDUCTIONS AND EXTRA WORK	1	EACH	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
		ALTERNATE A									
20800150	TRENCH BACKFILL	45	CU YARD	\$45.00	\$2,025.00	\$45.00	\$2,025.00	\$55.22	\$2,484.90	\$68.00	\$3,060.00
25000100	SEEDING, CLASS 1	1,755	SQ FEET	\$0.75	\$1,316.25	\$0.75	\$1,316.25	\$0.24	\$421.20	\$0.65	\$1,140.75
25100105	MULCH METHOD 1	1,755	SQ FEET	\$0.75	\$1,316.25	\$0.75	\$1,316.25	\$0.24	\$421.20	\$0.20	\$351.00
40800010	BITUMINOUS MATERIALS (PRIME COAT)	10	GALLON	\$15.00	\$150.00	\$15.00	\$150.00	\$59.57	\$595.70	\$50.00	

Project Name: 2021 Storm Drainage Improvement Project Project Number: 2021-30 Bid Date: Thursday, July 8,2021 Time: 10:00 a.m. Fund: Storm Water Organization Code: 78487806			Engineer's Estimate City Engineering Division		Entler Excavating Co., Inc. 819 North Sunnyside Rd Decatur, IL 62522		A&R Mechanical Services 711 Kettering Park Drive Urbana, IL 61801		Kinney Contractors 19342 E Frontage Road Raymond, IL 62560		
	Object Code: 489040		Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Number	Pay Item	Quantity		Onterice	IOIAI	Omerace	TOtal	Office	Total	Omerno	
40800010	INCIDENTAL BITUMINOUS SURFACING, 4 INCH	17	TON	\$450.00	\$7,650.00	\$500.00	\$8,500.00	\$441.88	\$7,511.96	\$325.00	\$5,525.00
42400200	PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	60	SQ FT	\$30.00	\$1,800.00	\$30.00	\$1,800.00	\$31.24	\$1,874.40	\$14.00	\$840.00
44000200	DRIVEWAY PAVEMENT REMOVAL	72	SQ YD	\$25.00	\$1,800.00	\$25.00	\$1,800.00	\$26.13	\$1,881.36	\$26.00	\$1,872.00
44000600	SIDEWALK REMOVAL	60	SQ FT	\$10.00	\$600.00	\$10.00	\$600.00	\$6.35	\$381.00	\$6.00	\$360.00
44213200	SAW CUTS	20	FOOT	\$5.00	\$100.00	\$6.00	\$120.00	\$6.11	\$122.20	\$60.00	\$1,200.00
60225110	MANHOLES, SANITARY, 4 FT, TY 1, CLOSED LID	1	EACH	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,836.65	\$4,836.65	\$7,000.00	\$7,000.00
60228111	ADDITIONAL DEPTH OF MANHOLE 4 FT DIAMETER	3	FOOT	\$600.00	\$1,800.00	\$600.00	\$1,800.00	\$268.73	\$806.19	\$150.00	\$450.00
67100100	MOBILIZATION	1	EACH	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$7,016.87	\$7,016.87	\$6,000.00	\$6,000.00
Z0059600	SEWER, TYPE 2 AND 3, 8", SDR 26	173	FT	\$150.00	\$25,950.00	\$100.00	\$17,300.00	\$121.21	\$20,969.33	\$145.00	\$25,085.00
XX003424	CONNECT TO EXISTING STRUCTURE	1	EACH	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,021.66	\$1,021.66	\$3,000.00	\$3,000.00
XX003425	CONNECT TO EXISTING STRUCTURE WITH INTERNAL DROP	1	EACH	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$3,713.22	\$3,713.22	\$4,500.00	\$4,500.00
Z0009000	ALTERATIONS, CANCELLATIONS, EXTENSIONS, DEDUCTIONS AND EXTRA WORK		EACH	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
XX005719	FILLING EXISTING SANITARY SEWER <15 INCH	100	FEET	\$35.00	\$3,500.00	\$35.00	\$3,500.00	\$12.13	\$1,213.00	\$30.00	\$3,000.00
XX000001	REMOVE AND REPLACE EXISTING PRIVACY FENCE	40	FEET	\$65.00	\$2,600.00	\$100.00	\$4,000.00	\$78.19	\$3,127.60	\$70.00	\$2,800.00
	TOTAL BASE BID (AS CORRECTED) Percent Over Under ENGINEER'S ESTIMATE TOTAL ALTERNATE A BID (AS CORRECTED) Percent Over Under ENGINEER'S ESTIMATE				\$423,907.50 \$67,107.50		\$352,253.00 -16.90% \$59,727.50 -11.00%		\$389,985.21 -8.00% \$63,398.44 -5.53%		\$511,665.25 20.70% \$71,683.75 6.82%
	TOTAL BIDS (AS CORRECTED) Percent Over Under ENGINEER'S ESTIMATE				\$491,015.00		\$411,980.50 -16.10%		\$453,383.65 -7.66%		\$583,349.00 18.80%

Paul E. Caswell, P.E., City Engineer

7/8/Jud/ Date